TR B EE AR—

LT RATIEDTE

BERY—EXDFRAMRUVER

NEEEREY —E RE <1 Bp1=Y> 18T 81U 0 B 10.27F

BEE | o mm FEV| e
= I g g RENR | 18 714 3 1E L =
MER | BNE |z g | BB g | gegim | T7F 121027| TE
ENEI] 547 36 22 12 14 6,480
EN &) 614 36 22 12 14 7,168
ANENE|Z 3] 682 36 22 12 14 | x10.27| 7.867
B4 749 36 22 12 14 8,555
EA 5 814 36 22 12 14 9,222
U - A lmom| @am "f}’ 1 | .
A = |FIAM | Sier | BERE | BEAIR [$1027|
ZENEI] 557 36 22 12 14 6,583
BENE2) 625 36 22 12 14 7,281
E= |ZE &3 695 36 22 12 14 | X 10.27| 8,000
E #4763 36 22 12 14 8,699
E 5 829 36 22 14 9,377
XFAEOBCSEEIE(E. TRETADFHT ?éﬁ?EiIlA,rtl:otéo
(1E|aEFE-(F2E|448)
BEAHRER-FEEE<1BHZY>
O4 A \EE OFE=E
BEA i BEA i
1347 #EB%E{ BixE| &&t 24 #EB%F;* BiEE| &
£ &8
1 300 0 300 1 300 320 620
2 390 370 760 2 390 420 810
3 650 370] 1,020 3 650 820] 1,470
4 1,600 840] 2,440 4 1,600] 1,350] 2,950
LB E . MESNEHE {%Bﬁ*}%b‘—tx« B&Y>1840:10.27M
;E:é;\;héﬂuﬁ g fwgngl 6
AN 246 ZAGIINE T 13
#EORT 28 OEFEEEM 90/
SEOHEME (D) 200 FtH>XBNE 700/ 5
‘fé%fgfﬁgﬁ( I) 100 gg&%ﬁ%gugg I ; 144
I 18 RYNEME (O 680
BExXxE)RVHEME | 300/H ERYMEME () 1,280
BREIRIAVNNE 10/ 8B NEBENBREME (1) S5 EHIE x0.083
ZRHDHF—ER
Bl EEDRE e
BRI BEDRME e
BERH—EX 2,000 /1@ (BEARA=2—)
B (EtEREA) [1830HA/1H
YL S 2,000 717 B (MEaXFIAICE NS T N TOEHE)

1,000 145 B (HB/MELVDHDEIER)

~ETIT—R~
i

NERREEE| BEE

EEE| &5t

856 1,600

840 3,296

NEEE4 - EIEEME

NERREEE| BEE

EEE| &5t

856 650

370 1,876

B4-HABRRE-1BIGEDHL. AABBEHE A DRALE

x1578(31H)=102, 176H

BSBNAN., ANREEFESISEEDEARNE

x14A(31H)=58, 156H

2018.41/ERK




